
See all products

Specifications Compare Features

Vertiv VRA5000 Specifications
M6 Cage Nuts Screws Quantity 50

At a Glance
Kit includes 50 pieces each of M6 cage nuts,
screws, and washers
Easily configure your rack to suit the ever-changing
needs of your network
Full line-up of accessories for cable management,
airflow management, and support brackets

Overview

The Vertiv VRA5000 is an assortment of mounting hardware for
installing accessories in your Vertiv VR Rack. It comes with 50
pieces each of M6 cage nuts, screws, and washers per pack,
along with a T30/Phillips L key, T30 extension driver. Fully
configure your Vertiv VR rack with the VRA5000 and other sorts
of accessories for cable management, airflow management, and even additional shelves
and support brackets.
More from the Manufacturer

Product Name M6 Cage Nuts Screws Quantity 50
Manufacturer Part Number VRA5000
Product Type Nut

Washer
Screw

Head Type Phillips
Color Black
Drive Type Philips
Material Metal
Maximum Fractional Diameter 0.24"

javascript:OpenViewer("/service/gosvcs/viewit/1049272939/1049272939.JPG/show/","fullsize/","1049272939.jpg");
https://www.provantage.com/~880LBRT.htm
https://www.provantage.com/service/searchsvcs/compare/LBR91XT
javascript:void(0)


Fastener Type Cage Nut
Cup Washer
Screw

Fastener Quantity 50 x Cage Nut
50 x Cup Washer
50 x Screw

Additional Information Number of products included: 50 pc(s)


